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| elitps of 256 = 8 aud ROM chips Er!

i Bystem needs 2k bytes of RAM. 4k by 14..*1
i@ confliguration is used. The o highesi- Drdu
58 bus aic assigned 00 for RANL 01 for ROM. -:]”d

@lion is inscried into a FIFO buffer at 2 rate of m byics per
ﬂd The information is deleted at a rate of n bytes per second.
Tha imaximum capacity of the buffer is k bytes. How long does il
lake for an empty buffer to fill up when m > n and how long does
i lake for a full buffer to empty when m < n 9

Cive the flow clart for add and subtract operations in signcd-
nrigniude form.

Section - C (Marks : 10 each)

Q8 (a)

(b)

() Y (i)

(1)

i1 detail the difference between RISC and CISC
Archilecture.

xplain

What are the ltmils on how much a processor’s perforniince can
be 1mproved using pipelining ?

How many bits of storage are required for tag array of 32-KRB
cache with 256-byte cacbe lings and lour-way-sct-associativity if
the cache is wrife-back but does not require any additional bits of
data in the tag array to implement the wrile-back policy ? Assumg
that the system comtaining the cache uses 32-bit addresscs.

Why are benchmark programs used 1o measure compuler
performance and also explain why we need multiple benchmirks
instead ol using only one best benchmark program ¥

Use TEEL single-precision floating point numbers 1o compute the
following quantities

PV 28 + 45
125 %R
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lﬂlerﬁli.u units, each with four regisiers. A :_

Mo fiico registers. Draw a memory address map for the

=

& Scmesier (PTU) J

QUESTION PAPERS

- struction to Candidates :

Scction - A is compulsory.
Attcmpt anv Four questions from Scction --B.
Attempt any Two questions from Section - C.

Computer Architecture

Dec. 2004

Section - A {(Marks : 2 each)

(a) Convert the following logic function into 7 mnicrm :
A'B'CDE’ + A'BCDE + AB'CD'E“+ ABCD'E.

(b) Define the rerms niicroprocessor and nucrocompuler.

(€)  Give the layered view of 3 computer systerm.

(d}  Whatis the role of Registers in digital computers

(¢) Pertorm the subtraction with the following unsigned binan

number by taking the 2°s complement of the subtrahend
LOO-T TOOO

() Explain the meaning of the memory-reference instruction LD A
() What is the and
nycroprogram

difference  between IRICro-operation

Whit 1s the duference between external mterrupts and intern:)
tnterrupts

(1) How assoctative memon 15 useful in mcmory hueriarchy

) What«o you mean by DMA 1O Concept ?

Section - B (Marks : 5 each)

Q2

g:';} -

Expliain i brief abowt SPMD wiachimes
CGneanoveniew ol 8251 USART
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